And:

CONTRACT



Screen Strategies Media 111150 Fairfax Blvd. Ste. 505

Fairfax, VA 22030

	Contract / Rev	vision		Alt Order #	Ł
	226500	/			
Advertiser			Ori	ginal Date	/ Revision
POL/Tester For Senate			C	4/12/24	/ 04/12/24
Contract Dates	Estimate #				
09/03/24 - 09/09/24	8938				
Product	-				
:30					
	Billing Cycle	Billing Calendar			Cash/Trade
	EOM/EOC	Broado	cast		Cash
	Property	Accour	nt E	xecutive	Sales Office
	KTMF	Katie D	Dela	ny	National CMMC
	Special Hand	ling			•
	Demographic				
	Adults 25-54				
	Agy Code	Advert	iser	Code	Product 1/2
	Agency Ref			Advertiser	Ref

	Start/End	:	Spots/			
*Line Ch Start Date End Date Description	Time	Days Length	Week Rate	Type S	pots	Amount
N 1 KTMF 09/03/24 09/05/24 M-F Start Date End Date Weekdays Spots/Week	6:00 AM-7:00 AM	:30		NM	6	\$450.00
Start DateEnd DateWeekdaysSpots/WeekWeek:09/02/2409/08/24-2226	<u>Rate</u> \$75.00					
N 2 KTMF 09/06/24 09/09/24 M-F	6:00 AM-7:00 AM	:30		NM	4	\$800.00
Start DateEnd DateWeekdaysSpots/WeekWeek:09/02/2409/08/2422	<u>Rate</u> \$200.00					
Week: 09/09/24 09/15/24 2 2	\$200.00					
N 3 KTMF 09/03/24 09/05/24 M-F 7a-9a	7:00 AM-8:00 AM	:30		NM	6	\$540.00
Start DateEnd DateWeekdaysSpots/WeekWeek:09/02/2409/08/24-2226	<u>Rate</u> \$90.00					
N 4 KTMF 09/06/24 09/09/24 M-F 7a-9a	7:00 AM-9:00 AM	:30		NM	8	\$2,800.00
Start DateEnd DateWeekdaysSpots/WeekWeek:09/02/2409/08/2444	<u>Rate</u> \$350.00					
Week: 09/09/24 09/15/24 4 4	\$350.00					
N 5 KTMF 09/03/24 09/05/24 M-F 7a-9a	8:00 AM-9:00 AM	:30		NM	6	\$540.00
Start DateEnd DateWeekdaysSpots/WeekWeek:09/02/2409/08/24-2226	<u>Rate</u> \$90.00					
N 6 KTMF 09/07/24 09/07/24 GMA sa0su 6a 7a	6a-7a	:30		NM	3	\$300.00
Start DateEnd DateWeekdaysSpots/WeekWeek:09/02/2409/08/24S-3	<u>Rate</u> \$100.00					
N 7 KTMF 09/07/24 09/07/24 Saturday 8-9AM	Saturday 8-9AM	:30		NM	2	\$320.00
Week: 09/02/24 End Date Weekdays Spots/Week	<u>Rate</u> \$160.00					
N 8 KTMF 09/08/24 09/08/24 GMA sa0su 6a 7a	6a-7a	:30		NM	2	\$160.00
Start Date End Date Weekdays Spots/Week	Rate				-	<i>Q</i> . COICC
Week: 09/02/24 09/08/24 S 2 N 9 KTMF 09/03/24 09/05/24 M-F 9a-10a	\$80.00	.20		NIM	0	¢400.00
N 9 KTMF 09/03/24 09/05/24 M-F 9a-10a Start Date End Date Weekdays Spots/Week	9a-10a Rate	:30		NM	6	\$180.00
Week: 09/02/24 09/08/24 - 222 6	\$30.00					
N 10 KTMF 09/06/24 09/09/24 M-F 9a-10a Start Date End Date Weekdays Spots/Week	9a-10a Rate	:30		NM	4	\$120.00
Start DateEnd DateWeekdaysSpots/WeekWeek:09/02/2409/08/2422	\$30.00					
Week: 09/09/24 09/15/24 2 2	\$30.00			I		

(* Line Transactions: N = New, E = Edited, D = Deleted) Notwithstanding to whom bills are rendered, advertiser, agency and service, jointly and severally, shall remain obligated to pay to station the amount of any bills rendered by station within the time specified and until payment in full is received by station. Payment by advertiser to agency or to service or payment by agency to service, shall not constitute payment to station. Station will not be bound by conditions, printed or specified. The parties to this advertising agreement affirm that nothing in this agreement, or any of the actions, benefits and obligations relating to it, discriminate in any way on the basis of race or ethnicity.

NonStop LOCAL Fox Missoula KTMF 2200 Stephens Ave Missoula, MT 59801 (406)542-8900		Advertiser POL/Tester For Senate	Contract / Revision 226500 /		rder <u>#</u> Date / Re 24 / (evision 04/12/24
•		Contract Dates 09/03/24 - 09/09/24	Product :30	Estin 8938	nate #	
*Line Ch Start Date End Date Description	Start/End Time	S Days Length	Spots/ Week Rate	Туре	Spots	Amount
Start Date End Date Weekdays Spots/Week N 11 KTMF 09/03/24 09/05/24 M-F 10a-11a Start Date End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 -111 3	<u>Rate</u> 10a-11a <u>Rate</u> \$150.00	:30		NM	3	\$450.00
N 12 KTMF 09/06/24 09/09/24 M-F 10a-11a Start Date End Date Weekdays Spots/Week 09/02/24 09/08/24 1 1 Week: 09/09/24 09/15/24 1 1	10a-11a <u>Rate</u> \$1,200.00 \$1,200.00	:30		NM	2	\$2,400.00
N 13 KTMF 09/03/24 09/05/24 M-F 11a-12p Start Date End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 -111 3	11a-12p <u>Rate</u> \$30.00	:30		NM	3	\$90.00
N 14 KTMF 09/06/24 09/09/24 M-F 11a-12p Start Date End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 1- 1 Week: 09/09/24 09/15/24 1 1	11a-12p <u>Rate</u> \$30.00 \$30.00	:30		NM	2	\$60.00
N 15 KTMF 09/03/24 09/05/24 M-F 12p-1p <u>Start Date</u> End Date Weekdays Week: 09/02/24 09/08/24 -111 3	12p-1p <u>Rate</u> \$150.00	:30		NM	3	\$450.00
N 16 KTMF 09/06/24 09/09/24 M-F 12p-1p Start Date End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 1- 1 Week: 09/09/24 09/15/24 1 1	12p-1p <u>Rate</u> \$200.00 \$200.00	:30		NM	2	\$400.00
N 17 KTMF 09/03/24 09/05/24 M-F 1p-2p <u>Start Date</u> End Date Weekdays Week: 09/02/24 09/08/24 -111 3	1p-2p <u>Rate</u> \$150.00	:30		NM	3	\$450.00
N 18 KTMF 09/06/24 09/09/24 M-F 1p-2p Start Date End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 1 1 Week: 09/09/24 09/15/24 1 1	1p-2p <u>Rate</u> \$200.00 \$200.00	:30		NM	2	\$400.00
N 19 KTMF 09/03/24 09/05/24 M-F 2p-3p <u>Start Date</u> End Date Weekdays Week: 09/02/24 09/08/24 -111 3	2p-3p <u>Rate</u> \$30.00	:30		NM	3	\$90.00
N 20 KTMF 09/06/24 09/09/24 M-F 2p-3p Start Date End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 1 1 Week: 09/09/24 09/15/24 1 1	2p-3p <u>Rate</u> \$30.00 \$30.00	:30		NM	2	\$60.00
N 21 KTMF 09/03/24 09/05/24 M-F 3p-4p <u>Start Date</u> End Date Weekdays Week: 09/02/24 09/08/24 -222 6	3p-4p <u>Rate</u> \$60.00	:30		NM	6	\$360.00
N 22 KTMF 09/06/24 09/09/24 M-F 3p-4p Start Date End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 2 2 Week: 09/09/24 09/15/24 2 2	3p-4p <u>Rate</u> \$60.00 \$60.00	:30		NM	4	\$240.00
N 23 KTMF 09/08/24 09/08/24 Sun 9-930A Start Date End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 Weekdays Spots/Week	Sun 9-930A <u>Rate</u> \$350.00	:30		NM	1	\$350.00
N 24 KTMF 09/03/24 09/05/24 M-F 4p-5p** <u>Start Date</u> End Date Weekdays Week: 09/02/24 09/08/24 -222 6	M-F 4p-5p** <u>Rate</u> \$90.00	:30		NM	6	\$540.00
N 25 KTMF 09/06/24 09/09/24 M-F 4p-5p**	M-F 4p-5p**	:30		NM	4	\$360.00

NonStor LOCAL Bissoula, MT 59801 (406)542-8900	P	dvertiser OL/Tester For Senate Contract Dates 9/03/24 - 09/09/24	Contract / Revision 226500 / Product :30	Original 04/12/	nate #	evision 04/12/24
*Line Ch Start Date End Date Description	Start/End Time	s Days Length V	Spots/ Veek Rate	Туре	Snots	Amount
Start Date End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 2 2	Rate \$90.00	Dayo Longin (Type	spoto	7 anodine
Week: 09/09/24 09/15/24 2 2	\$90.00					
N 26 KTMF 09/03/24 09/05/24 M-F 5-530PM <u>Start Date</u> End Date Weekdays Week: 09/02/24 09/08/24 -222 6	M-F 5-530PM <u>Rate</u> \$225.00	:30		NM	6	\$1,350.00
N 27 KTMF 09/06/24 09/09/24 M-F 5-530PM Start Date End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 2 2 Week: 09/09/24 09/15/24 2 2	M-F 5-530PM <u>Rate</u> \$500.00 \$500.00	:30		NM	4	\$2,000.00
N 28 KTMF 09/03/24 09/05/24 M-F 6-630PM Start Date End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 - 222 6	M-F 6-630PM <u>Rate</u> \$225.00	:30		NM	6	\$1,350.00
N 29 KTMF 09/06/24 09/09/24 M-F 6-630PM Start Date End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 Weekdays Spots/Week Week: 09/09/24 09/15/24 22- 2	M-F 6-630PM <u>Rate</u> \$500.00 \$500.00	:30		NM	4	\$2,000.00
N 30 KTMF 09/08/24 09/08/24 Sa-Su 5-530PM <u>Start Date</u> End Date Weekdays Week: 09/02/24 09/08/24S 1	Sa-Su 5-530PM <u>Rate</u> \$300.00	А :30		NM	1	\$300.00
N 31 KTMF 09/03/24 09/05/24 M-F 630-7PM <u>Start Date</u> End Date Weekdays Week: 09/02/24 09/08/24 -111 33	M-F 630-7PM <u>Rate</u> \$120.00	:30		NM	3	\$360.00
N 32 KTMF 09/06/24 09/09/24 M-F 630-7PM Start Date End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 1 1 Week: 09/09/24 09/15/24 1 1 1	M-F 630-7PM <u>Rate</u> \$500.00 \$500.00	:30		NM	2	\$1,000.00
N 33 KTMF 09/07/24 09/07/24 Sa 6p-7p Start Date End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 S- 2	6p-65830P <u>Rate</u> \$60.00	:30		NM	2	\$120.00
N 34 KTMF 09/09/24 09/09/24 NFL <u>Start Date</u> <u>End Date</u> <u>Weekdays</u> <u>Spots/Week</u> Week: <u>09/09/24</u> 09/15/24 <u>M</u> <u>2</u>	6:15 PM-9:30 P <u>Rate</u> \$2,500.00	PM :30		NM	2	\$5,000.00
N 35 KTMF 09/03/24 09/03/24 Tue Prime Start Date End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 -T 1	7p-8p <u>Rate</u> \$300.00	:30		NM	1	\$300.00
N 36 KTMF 09/03/24 09/03/24 Tue Prime Start Date End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 -T 1	8p-9p <u>Rate</u> \$300.00	:30		NM	1	\$300.00
N 37 KTMF 09/03/24 09/03/24 Tue Prime <u>Start Date End Date Weekdays</u> <u>Spots/Week</u> Week: 09/02/24 09/08/24 -T 1	9p-10p <u>Rate</u> \$200.00	:30		NM	1	\$200.00
N 38 KTMF 09/04/24 09/04/24 Comedies Start Date End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 W 2	7:00 PM-8:00 P <u>Rate</u> \$200.00	PM :30		NM	2	\$400.00
N 39 KTMF 09/04/24 09/04/24 Comedies Start Date End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 W 2	8:00 PM-9:00 P <u>Rate</u> \$250.00	PM :30		NM	2	\$500.00
N 40 KTMF 09/04/24 09/04/24 Wed Prime Start Date End Date Weekdays Spots/Week	9p-10p <u>Rate</u>	:30		NM	1	\$300.00

Print Date 04/12/24

Page 3 of 5

Contract Agreement Between:

NonStop KTMF 2200 Stephens Ave			Contract / Revision 226500 /	Alt C	Order #	
Missoula, MT 59801 (406)542-8900		Advertiser POL/Tester For Senate		Original 04/12/	Date / Rev /24 / 04	<u>/ision</u> 4/12/24
		Contract Dates 09/03/24 - 09/09/24	Product :30	<u>Estin</u> 8938	nate # 3	
*Line Ch Start Date End Date Description	Start/End Time	S Days Length	Spots/ Week Rate	Types	Spots	Amount
Start Date End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 W 1	<u>Rate</u> \$300.00				-	
N 41 KTMF 09/05/24 09/05/24 Thur Prime Start Date End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 T 1	7p-8p Rate \$300.00	:30		NM	1	\$300.00
N 42 KTMF 09/05/24 09/05/24 Thur Prime Start Date End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 Weekdays Spots/Week	8p-9p <u>Rate</u> \$400.00	:30		NM	1	\$400.00
N 43 KTMF 09/05/24 09/05/24 High Potential Start Date End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 Weekdays Spots/Week	9p-10p <u>Rate</u> \$300.00	:30		NM	1	\$300.00
N 44 KTMF 09/06/24 09/06/24 Fri Prime Start Date End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 F 1	7p-8p <u>Rate</u> \$1,200.00	:30		NM	1	\$1,200.00
N 45 KTMF 09/06/24 09/06/24 Fri Prime Various Start Date End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 F 4	8:00 PM-10: <u>Rate</u> \$1,500.00	00 PM :30		NM	4	\$6,000.00
N 46 KTMF 09/07/24 09/07/24 Sat Night ftball Start Date End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 S- 3	5:30 PM-9:0 <u>Rate</u> \$1,350.00	0 PM :30		NM	3	\$4,050.00
N 47 KTMF 09/08/24 09/08/24 Sun Prime Start Date End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 S 1	6p-7p <u>Rate</u> \$1,500.00	:30		NM	1	\$1,500.00
N 48 KTMF 09/08/24 09/08/24 Sun Prime Start Date End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 S 1	7p-8p <u>Rate</u> \$1,200.00	:30		NM	1	\$1,200.00
N 49 KTMF 09/08/24 09/08/24 Sun Prime Start Date End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 S 1	7p-8p <u>Rate</u> \$1,200.00	:30		NM	1	\$1,200.00
N 50 KTMF 09/08/24 09/08/24 Sun Prime Start Date End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 S 1	9p-10p <u>Rate</u> \$1,200.00	:30		NM	1	\$1,200.00
N 51 KTMF 09/03/24 09/05/24 M-F 10-1035PM Start Date Week: End Date 09/02/24 End Date 09/08/24 Weekdays - 222 Spots/Week 6	M-F 10-1035 <u>Rate</u> \$150.00	5PM :30		NM	6	\$900.00
N 52 KTMF 09/06/24 09/09/24 M-F 10-1035PM Start Date End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 2 2 Week: 09/09/24 09/15/24 2 2	M-F 10-1035 <u>Rate</u> \$500.00 \$500.00	5PM :30		NM	4	\$2,000.00
N 53 KTMF 09/07/24 09/07/24 Sa-Su 10-1035PM Start Date End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 S- 2	Sa-Su 10-10 <u>Rate</u> \$300.00)35PM :30		NM	2	\$600.00
N 54 KTMF 09/08/24 09/08/24 Sa-Su 10-1035PM Start Date End Date Weekdays Spots/Week Spots/Week 2	Sa-Su 10-10 <u>Rate</u> \$300.00)35PM :30		NM	2	\$600.00
N 55 KTMF 09/03/24 09/05/24 M-F 1035p-1140p Start Date End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 Weekdays Spots/Week	M-F 1035p-1 <u>Rate</u> \$75.00	1140p :30		NM	6	\$450.00
N 56 KTMF 09/06/24 09/09/24 M-F 1035p-1140p Start Date End Date Weekdays Spots/Week	M-F 1035p-1 Rate			NM	4	\$400.00

Contract Agreement Between:					Р	rint Date 04	4/12/24	Pa	ge 5 of 5
NonStop KTMF 2200 Stephens Ave					Contract 22650	/ Revision 0 /	Alt	Order #	
LUUAL Missoula, MT 59801		Advertiser					Origina	l Date / R	evision
(406)542-8900		POL/Teste	er For Sen	ate			04/12	2/24 /	04/12/24
		Contract D			Product			mate #	
		09/03/24 -	09/09/24		:30		893	8	
	Start/End				Spots/				
*Line Ch Start Date End Date Description	Time	Day	ys Ler	ngth	Week	Rate	Туре	Spots	Amount
Start DateEnd DateWeekdaysSpots/WeekWeek:09/02/2409/08/2422	<u>Rate</u> \$100.00								
Week: 09/09/24 09/15/24 2 2	\$100.00								
N 57 KTMF 09/03/24 09/05/24 M-F 1137P-1207AM	M-F 1137P-1	207AI		:30			NM	3	\$180.00
Start DateEnd DateWeekdaysSpots/WeekWeek:09/02/2409/08/24-1113	<u>Rate</u> \$60.00								
N 58 KTMF 09/06/24 09/09/24 M-F 1137P-1207AM	M-F 1137P-1	207AN		:30			NM	2	\$120.00
Start DateEnd DateWeekdaysSpots/WeekWeek:09/02/2409/08/2411	<u>Rate</u> \$60.00								
Week: 09/09/24 09/15/24 1 1	\$60.00								
N 59 KTMF 09/07/24 09/07/24 Afternoon college ftball	10:00 AM-1:3	30 PM		:30			NM	2	\$2,700.00
Start DateEnd DateWeekdaysSpots/WeekWeek:09/02/2409/08/24S-2	<u>Rate</u> \$1,350.00								
N 60 KTMF 09/07/24 09/07/24 Afternoon college ftball	1:30 PM-5:30) PM		:30			NM	2	\$2,700.00
Start DateEnd DateWeekdaysSpots/WeekWeek:09/02/2409/08/24S-2	<u>Rate</u> \$1,350.00								
		Tot	tals					179	\$56,390.00
Time Period # of Spots Gross Amount Ag	gency Comm.	Net	t Amount						
08/26/24 -09/09/24 179 \$56,390.00	(\$8,458.50)		7,931.50	I					
Totals 179 \$56,390.00	(\$8,458.50)		7,931.50	I					
Signature:		Date:							

And:

CONTRACT



Screen Strategies Media 111150 Fairfax Blvd. Ste. 505

Fairfax, VA 22030

	Contract / Rev	vision		Alt Order #	
	226501	/			
Advertiser			Ori	ginal Date	/ Revision
POL/Tester For Senate			C	4/12/24	/ 04/12/24
Contract Dates	Estimate #				
09/03/24 - 09/09/24	8938				
Product	-				
:30					
	Billing Cycle	Billing Calendar			Cash/Trade
	EOM/EOC	Broadcast			Cash
	Property	Accour	nt E	xecutive	Sales Office
	NTMF	Katie D)ela	ny	National CMMC
	Special Hand	ling			•
	Demographic				
	Adults 25-54				
	Agy Code	Advert	iser	Code	Product 1/2
	Agency Ref			Advertiser	Ref

	Start/End	Ş	Spots/			
*Line Ch Start Date End Date Description	Time I	Days Length \	Week Rate	Type S	oots	Amount
N 1 NTMF 09/03/24 09/05/24 WUM 7a-9a LN	7:00 AM-8:00 AM	:30		NM	9	\$540.00
Start DateEnd DateWeekdaysSpots/WeekWeek:09/02/2409/08/24-3339	<u>Rate</u> \$60.00					
N 2 NTMF 09/06/24 09/09/24 WUM 7a-9a LN	7:00 AM-8:00 AM	:30		NM	6	\$480.00
Start DateEnd DateWeekdaysSpots/WeekWeek:09/02/2409/08/2433	<u>Rate</u> \$80.00					
Week: 09/09/24 09/15/24 3 3	\$80.00					
N 3 NTMF 09/03/24 09/05/24 WUM 7a-9a LN	8:00 AM-9:00 AM	:30		NM	9	\$675.00
Start DateEnd DateWeekdaysSpots/WeekWeek:09/02/2409/08/24- 3339	<u>Rate</u> \$75.00					
N 4 NTMF 09/06/24 09/09/24 WUM 7a-9a LN	\$75.00 8:00 AM-9:00 AM	:30		NM	6	\$600.00
Start Date End Date Weekdays Spots/Week	Rate	.30		INIVI	0	φ000.00
Week: 09/02/24 09/08/24 3 3	\$100.00					
Week: 09/09/24 09/15/24 3 3	\$100.00					
N 5 NTMF 09/07/24 09/07/24 College Ftball Pregame	8:00 AM-10:00 AM	:30		NM	2	\$200.00
Start DateEnd DateWeekdaysSpots/WeekWeek:09/02/2409/08/24S-2	<u>Rate</u> \$100.00					
N 6 NTMF 09/03/24 09/05/24 M-F 9a-10a	9a-10a	:30		NM	6	\$180.00
Start Date End Date Weekdays Spots/Week	Rate					
Week: 09/02/24 09/08/24 - 222 6	\$30.00					• · · · · · ·
N 7 NTMF 09/06/24 09/09/24 M-F 9a-10a Start Date End Date Weekdays Spots/Week	9a-10a Rate	:30		NM	4	\$120.00
Week: 09/02/24 09/08/242 2	\$30.00					
Week: 09/09/24 09/15/24 2 2	\$30.00					
N 8 NTMF 09/03/24 09/05/24 M-F 10a-11a	10a-11a	:30		NM	3	\$90.00
Start Date End Date Weekdays Spots/Week	Rate					
Week: 09/02/24 09/08/24 - 111 3	\$30.00					\$ \$\$\$
N 9 NTMF 09/06/24 09/09/24 M-F 10a-11a Start Date End Date Weekdays Spots/Week	10a-11a Rate	:30		NM	2	\$60.00
Week: $\overline{09/02/24}$ $\overline{09/08/24}$ $\overline{09/08/24}$ $\overline{09/08/24}$ $\overline{09/08/24}$ $\overline{09/08/24}$	\$30.00					
Week: 09/09/24 09/15/24 1 1	\$30.00					
N 10 NTMF 09/03/24 09/05/24 M-F 11a-12p	11a-12p	:30		NM	3	\$90.00

(* Line Transactions: N = New, E = Edited, D = Deleted) Notwithstanding to whom bills are rendered, advertiser, agency and service, jointly and severally, shall remain obligated to pay to station the amount of any bills rendered by station within the time specified and until payment in full is received by station. Payment by advertiser to agency or to service or payment by agency to service, shall not constitute payment to station. Station will not be bound by conditions, printed or specified. The parties to this advertising agreement affirm that nothing in this agreement, or any of the actions, benefits and obligations relating to it, discriminate in any way on the basis of race or ethnicity.

NonStop NTMF				Contract / Revision 226501 /	Alt C	order #	
LOCAL 2200 Stephens Ave Missoula, MT 59801		Advertiser		220001 /	Original	Data / Dr	avision.
(406)542-8900		Advertiser POL/Tester For	Senate		04/12/	Date / Re /24 /	04/12/24
© FOX Missoula		Contract Dates		Product	Estin	nate #	
		09/03/24 - 09/09	/24	:30	8938		
	Start/End		c	noto/	•		
*Line Ch Start Date End Date Description	Time	Days	Length V	Spots/ Veek Rate	Types	Spots	Amount
Start DateEnd DateWeekdaysSpots/WeekWeek:09/02/2409/08/24-1113	<u>Rate</u> \$30.00						
N 11 NTMF 09/06/24 09/09/24 M-F 11a-12p	11a-12p		:30		NM	2	\$60.00
Start DateEnd DateWeekdaysSpots/WeekWeek:09/02/2409/08/2411	Rate \$30.00						
Week: 09/09/24 09/15/24 1 1	\$30.00						
N 12 NTMF 09/03/24 09/05/24 M-F 12p-1p	12:00 PM-12	2:30 PN	:30		NM	3	\$90.00
Start DateEnd DateWeekdaysSpots/WeekWeek:09/02/2409/08/24-1113	<u>Rate</u> \$30.00						
N 13 NTMF 09/06/24 09/09/24 M-F 12p-1p	12:00 PM-12	2:30 PN	:30		NM	2	\$60.00
Start DateEnd DateWeekdaysSpots/WeekWeek:09/02/2409/08/24 11	<u>Rate</u> \$30.00						
Week: 09/09/24 09/15/24 1 1	\$30.00						
N 14 NTMF 09/03/24 09/05/24 M-F 1p-2p Start Date End Date Weekdays Spots/Week	1p-2p Rate		:30		NM	6	\$180.00
Week: 09/02/24 09/08/24 -222 6	\$30.00						
N 15 NTMF 09/06/24 09/09/24 M-F 1p-2p Start Date End Date Weekdays Spots/Week	1p-2p Boto		:30		NM	4	\$120.00
Week: 09/02/24 09/08/24 2 2	<u>Rate</u> \$30.00						
Week: 09/09/24 09/15/24 2 2	\$30.00						* ~~ ~~
N 16 NTMF 09/03/24 09/05/24 M-F 2p-3p Start Date End Date Weekdays Spots/Week	2p-3p Rate		:30		NM	3	\$90.00
Week: 09/02/24 09/08/24 -111 3	\$30.00						* ~~~~~
N 17 NTMF 09/06/24 09/09/24 M-F 2p-3p <u>Start Date</u> <u>End Date</u> <u>Weekdays</u> <u>Spots/Week</u>	2p-3p Rate		:30		NM	2	\$60.00
Week: 09/02/24 09/08/24 1 1 Week: 09/09/24 09/15/24 1 1	\$3 <u>0.00</u> \$30.00						
N 18 NTMF 09/03/24 09/05/24 M-F 3p-4p	3:30 PM-4:0	0 PM	:30		NM	3	\$90.00
Start Date End Date Weekdays Spots/Week	Rate	-				-	
Week: 09/02/24 09/08/24 - 111 3 N 19 NTMF 09/06/24 09/09/24 M-F 3p-4p	\$30.00 3:30 PM-4:0	0 PM	:30		NM	2	\$60.00
Start Date End Date Weekdays Spots/Week	Rate					_	
Week: 09/02/24 09/08/24 1 Week: 09/09/24 09/15/24 1 1	\$30.00 \$30.00						
N 20 NTMF 09/03/24 09/05/24 M-F 4p-430p	4p-430p		:30		NM	3	\$135.00
Start DateEnd DateWeekdaysSpots/WeekWeek:09/02/2409/08/24-1113	<u>Rate</u> \$45.00						
N 21 NTMF 09/06/24 09/09/24 M-F 4p-430p	4p-430p		:30		NM	2	\$120.00
Start DateEnd DateWeekdaysSpots/WeekWeek:09/02/2409/08/24 11	<u>Rate</u> \$60.00						
Week: 09/09/24 09/15/24 1 1	\$60.00						
N 22 NTMF 09/03/24 09/05/24 M-F 430p-5p Start Date End Date Weekdays Spots/Week	430p-5p Rate		:30		NM	3	\$135.00
Week: 09/02/24 09/08/24 - 111 3	\$45.00						
N 23 NTMF 09/06/24 09/09/24 M-F 430p-5p Start Date End Date Weekdays Spots/Week	430p-5p Rate		:30		NM	2	\$120.00
Week: 09/02/24 09/08/24 1 1	\$60.00						
Week: 09/09/24 09/15/24 1 1	\$60.00		.00		N IN A	0	¢400.00
N 24 NTMF 09/03/24 09/05/24 M-F 5p-530p Start Date End Date Weekdays Spots/Week	5p-530p <u>Rate</u>		:30		NM	3	\$180.00

Print Date 04/12/24

Page 2 of 6

Contract Agreement Between:

NONSTOP NTMF 2200 Stephens Ave Missoula, MT 59801		Advertiser	Contract / Revision 226501 /		rder # Date / Re	vision
(406)542-8900		POL/Tester For Senate	Product	04/12/2 Estim	24 / 0 nate #	4/12/24
		09/03/24 - 09/09/24	:30	8938		
*Line Ch Start Date End Date Description	Start/End Time	Days Length	Spots/ Week Rate	TypeS	Spots	Amount
Start DateEnd DateWeekdaysSpots/WeekWeek:09/02/2409/08/24-1113	Rate \$60.00					
N 25 NTMF 09/06/24 09/09/24 M-F 5p-530p Week: 09/02/24 End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 1- 1 Week: 09/09/24 09/15/24 1 1	5p-530p <u>Rate</u> \$80.00 \$80.00	:30		NM	2	\$160.00
N 26 NTMF 09/03/24 09/05/24 M-F 530p-6p <u>Start Date</u> End Date Weekdays Week: 09/02/24 09/08/24 -1111 <u>Spots/Week</u> 3	M-F 530p-6p <u>Rate</u> \$60.00	.30		NM	3	\$180.00
N 27 NTMF 09/06/24 09/09/24 M-F 530p-6p Week: <u>5tart Date</u> <u>End Date</u> <u>Weekdays</u> <u>Spots/Week</u> Week: 09/02/24 09/08/24 <u>1</u> 1 Week: 09/09/24 09/15/24 1 1	M-F 530p-6p <u>Rate</u> \$80.00 \$80.00	.30		NM	2	\$160.00
N 28 NTMF 09/03/24 09/05/24 M-F 6p-630p <u>Start Date</u> End Date Weekdays Week: 09/02/24 09/08/24 -1111 <u>Spots/Week</u> 3	6p-630p <u>Rate</u> \$150.00	:30		NM	3	\$450.00
N 29 NTMF 09/06/24 09/09/24 M-F 6p-630p Start Date End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 11 1	6p-630p <u>Rate</u> \$300.00 \$300.00	:30		NM	2	\$600.00
N 30 NTMF 09/03/24 09/05/24 M-F 630p-7p <u>Start Date</u> End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 -111 3	630p-7p <u>Rate</u> \$150.00	:30		NM	3	\$450.00
N 31 NTMF 09/06/24 09/09/24 M-F 630p-7p Start Date End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 1 1 Week: 09/09/24 09/15/24 1 1	630p-7p <u>Rate</u> \$300.00 \$300.00	:30		NM	2	\$600.00
N 32 NTMF 09/09/24 09/09/24 Mon Prime Hour 1 Start Date End Date Weekdays Spots/Week Week: 09/09/24 09/15/24 M 1	7p-8p <u>Rate</u> \$300.00	:30		NM	1	\$300.00
N 33 NTMF 09/09/24 09/09/24 Mon Prime Hour 2 Start Date End Date Weekdays Spots/Week Week: 09/09/24 09/15/24 M 1	8p-9p <u>Rate</u> \$300.00	:30		NM	1	\$300.00
N 34 NTMF 09/03/24 09/03/24 Tue Prime Hour 1 <u>Start Date</u> End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 -T 1	7p-8p <u>Rate</u> \$300.00	:30		NM	1	\$300.00
N 35 NTMF 09/03/24 09/03/24 Tue Prime Hour 2 <u>Start Date</u> End Date Weekdays <u>Spots/Week</u> Week: <u>09/02/24</u> 09/08/24 -T <u>1</u>	8p-9p <u>Rate</u> \$300.00	:30		NM	1	\$300.00
N 36 NTMF 09/04/24 09/04/24 Wed Prime Hour 1 Start Date End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 W 1	7p-8p <u>Rate</u> \$400.00	:30		NM	1	\$400.00
N 37 NTMF 09/04/24 09/04/24 Wed Prime Hour 2 Start Date End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 W 1	8p-9p <u>Rate</u> \$300.00	:30		NM	1	\$300.00
N 38 NTMF 09/05/24 09/05/24 Thur Prime Hour 1 <u>Start Date</u> End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 T 1	7p-8p <u>Rate</u> \$300.00	:30		NM	1	\$300.00
N 39 NTMF 09/05/24 09/05/24 Thur Prime Hour 2 Start Date End Date Weekdays Spots/Week	8p-9p <u>Rate</u>	:30		NM	1	\$400.00

Print Date 04/12/24

Page 3 of 6

Contract Agreement Between:

NONSTOP NTMF 2200 Stephens Ave Missoula, MT 59801		Advortigor	Contract / Revision 226501 /		rder #	wieion
(406)542-8900		Advertiser POL/Tester For Senate			ginal Date / Revision 4/12/24 / 04/12/24	
		Contract Dates 09/03/24 - 09/09/24	Product :30	<u>Estin</u> 8938	nate #	
*Line Ch Start Date End Date Description	Start/End Time	Days Length	Spots/ Week Rate	TypeS	Spots	Amount
Start DateEnd DateWeekdaysSpots/WeekWeek:09/02/2409/08/24T1	<u>Rate</u> \$400.00	, cg				
N 40 NTMF 09/03/24 09/05/24 M-F 9p-935p <u>Start Date</u> End Date Weekdays Week: 09/02/24 09/08/24 -222 6	9p-935p <u>Rate</u> \$225.00	:30		NM	6	\$1,350.00
N 41 NTMF 09/06/24 09/09/24 M-F 9p-935p Start Date End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 2- 2 Week: 09/09/24 09/15/24 22- 2	9p-935p <u>Rate</u> \$450.00 \$450.00	:30		NM	4	\$1,800.00
N 42 NTMF 09/07/24 09/07/24 SA-SU 9p news Start Date End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 S- 2	9p-935p <u>Rate</u> \$450.00	:30		NM	2	\$900.00
N 43 NTMF 09/08/24 09/08/24 SA-SU 9p news Start Date End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 S 2	9p-935p <u>Rate</u> \$400.00	:30		NM	2	\$800.00
N 44 NTMF 09/03/24 09/05/24 M-F 935p-1005p Start Date End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 -111 3	935p-1005p <u>Rate</u> \$75.00	:30		NM	3	\$225.00
N 45 NTMF 09/06/24 09/09/24 M-F 935p-1005p Start Date End Date Weekdays Spots/Week 09/02/24 09/08/24 1- 1 Week: 09/09/24 09/15/24 1 1	935p-1005p <u>Rate</u> \$75.00 \$75.00	:30		NM	2	\$150.00
N 46 NTMF 09/03/24 09/05/24 M-F 1005p-1035p <u>Start Date</u> End Date Weekdays Week: 09/02/24 09/08/24 -111 3	1005p-1035 <u>Rate</u> \$45.00	p :30		NM	3	\$135.00
N 47 NTMF 09/06/24 09/09/24 M-F 1005p-1035p Start Date End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 1- 1 Week: 09/09/24 09/15/24 1 1	1005p-1035 <u>Rate</u> \$45.00 \$45.00	p :30		NM	2	\$90.00
N 48 NTMF 09/03/24 09/05/24 M-F 1035p-1105p <u>Start Date</u> End Date Weekdays <u>Spots/Week</u> Week: <u>09/02/24</u> 09/08/24 -1111 <u>3</u>	1035p-1105 <u>Rate</u> \$45.00	p :30		NM	3	\$135.00
N 49 NTMF 09/06/24 09/09/24 M-F 1035p-1105p Start Date End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 1 1 Week: 09/09/24 09/15/24 1 1	1035p-1105 <u>Rate</u> \$45.00 \$45.00	p :30		NM	2	\$90.00
N 50 NTMF 09/03/24 09/05/24 M-F 1105p-1205a <u>Start Date</u> End Date Weekdays Week: 09/02/24 09/08/24 -111 3	11:05 PM-11 <u>Rate</u> \$30.00	1:35 PN :30		NM	3	\$90.00
N 51 NTMF 09/06/24 09/09/24 M-F 1105p-1205a Start Date End Date Weekdays Spots/Week 09/02/24 09/08/24 1- 1 Week: 09/09/24 09/15/24 1 1	11:05 PM-11 <u>Rate</u> \$30.00 \$30.00	1:35 PN :30		NM	2	\$60.00
N 52 NTMF 09/03/24 09/05/24 M-F 1105p-1205a Start Date End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 -1-1 2	11:35 PM-12 <u>Rate</u> \$30.00	2:05 XN :30		NM	2	\$60.00
N 53 NTMF 09/06/24 09/09/24 M-F 1105p-1205a Start Date Week: End Date 09/02/24 Weekdays 09/08/24 Spots/Week Week: 09/09/24 09/15/24 1 1	11:35 PM-12 <u>Rate</u> \$30.00 \$30.00	2:05 XN :30		NM	2	\$60.00

NTMF 2200 Stephens Ave Missoula, MT 59801 (406)542-8900		Advertiser POL/Tester Fo Contract Dates 09/03/24 - 09/0	<u></u>	Contract / 22650 Product :30	(<u>Revision</u> 1 /	Origina 04/12	nate #	evision 04/12/24
*Line Ch Start Date End Date Description	Start/End Time	Days	Length	Spots/ Week	Rate	Туре	Spots	Amount
Start Date End Date Weekdays Spots/Week N 54 NTMF 09/07/24 09/07/24 Sa 935p-1005 Start Date Spots/Week	Rate 935p-1005p		:30			NM	1	\$75.00
Start Date End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 S- 1 N 55 NTMF 09/07/24 09/07/24 Sa 1105p 1 hr Start Date Start Date End Date Weekdays Spots/Week	Rate \$75.00 11:05 PM-11 Rate	1:35 PN	:30			NM	1	\$45.00
Week: 09/02/24 09/08/24 weekdays 5003/week N 56 NTMF 09/07/24 09/07/24 Sa 1105p 1 hr	\$45.00 11:35 PM-12	2:05 XN	:30			NM	1	\$45.00
Start Date Week:End Date 09/02/24Weekdays S-Spots/Week 1	<u>Rate</u> \$45.00							
N 57 NTMF 09/08/24 09/08/24 Su 935p 1 hjr Start Date End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 S 1	9:35 PM-10: <u>Rate</u> \$90.00	05 PM	:30			NM	1	\$90.00
N 58 NTMF 09/08/24 09/08/24 Su 1005p 1 hr Start Date End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 S 1	10:05 PM-10 <u>Rate</u> \$90.00):35 PN	:30			NM	1	\$90.00
N 59 NTMF 09/08/24 09/08/24 Su 1005p 1 hr Start Date End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 S 1	10:35 PM-11 <u>Rate</u> \$90.00	1:05 PN	:30			NM	1	\$90.00
N 60 NTMF 09/08/24 09/08/24 11-5p-1205a <u>Start Date</u> End Date Weekdays Week: 09/02/24 09/08/24S 1	11:05 PM-11 <u>Rate</u> \$90.00	1:35 PN	:30			NM	1	\$90.00
N 61 NTMF 09/07/24 09/07/24 College Football <u>Start Date</u> End Date Weekdays Spots/Week Week: 09/02/24 09/08/24S- 3	10:00 AM-1: <u>Rate</u> \$400.00	30 PM	:30			NM	3	\$1,200.00
N 62 NTMF 09/07/24 09/07/24 College Football Start Date End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 S- 3	1:30 PM-5:0 <u>Rate</u> \$400.00	0 PM	:30			NM	3	\$1,200.00
N 63 NTMF 09/07/24 09/07/24 Major League Baseball Start Date End Date Weekdays Spots/Week Week: 09/02/24 09/08/24S- 1	5:00 PM-9:3 <u>Rate</u> \$1,200.00	0 PM	:30			NM	1	\$1,200.00
N 64 NTMF 09/08/24 09/08/24 Reg Season Game 1 Start Date End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 S 1	2:00 PM-5:3 <u>Rate</u> \$2,000.00	0 PM	:30			NM	1	\$2,000.00
N 65 NTMF 09/08/24 09/08/24 Reg Season Game 2 Start Date End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 S 1	4:30 PM-7:3 <u>Rate</u> \$2,000.00	0 PM	:30			NM	1	\$2,000.00
N 66 NTMF 09/03/24 09/05/24 M-F 12p-1p Start Date End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 -111 3	12:30 PM-1: <u>Rate</u> \$30.00	00 PM	:30			NM	3	\$90.00
N 67 NTMF 09/06/24 09/09/24 M-F 12p-1p Start Date End Date Weekdays Spots/Week Week: 09/02/24 09/08/24 1 1	12:30 PM-1: <u>Rate</u> \$30.00	00 PM	:30			NM	2	\$60.00
Week: 09/09/24 09/15/24 1 1	\$30.00	Totals					174	\$23,955.00

(* Line Transactions: N = New, E = Edited, D = Deleted) Notwithstanding to whom bills are rendered, advertiser, agency and service, jointly and severally, shall remain obligated to pay to station the amount of any bills rendered by station within the time specified and until payment in full is received by station. Payment by advertiser to agency or to service or payment by agency to service, shall not constitute payment to station. Station will not be bound by conditions, printed or otherwise, on contracts, insertion orders, copy instructions or any correspondence when such conflict with the above terms and conditions. Two week advance cancellation notice is required unless otherwise specified. The parties to this advertising agreement affirm that nothing in this agreement, or any of the actions, benefits and obligations relating to it, discriminate in any way on the basis of race or ethnicity.

Page 5 of 6

Print Date 04/12/24



	Contract / Revision 226501 /	<u>Alt Order #</u>
Advertiser POL/Tester For Senate		Original Date / Revision 04/12/24 / 04/12/24
Contract Dates 09/03/24 - 09/09/24	Product :30	Estimate # 8938

Time Period	# of Spots	Gross Amount	Agency Comm.	Net Amount
08/26/24 -09/09/24	174	\$23,955.00	(\$3,593.25)	\$20,361.75
Totals	174	\$23,955.00	(\$3,593.25)	\$20,361.75

Signature:

Date: _____

(* Line Transactions: N = New, E = Edited, D = Deleted) Notwithstanding to whom bills are rendered, advertiser, agency and service, jointly and severally, shall remain obligated to pay to station the amount of any bills rendered by station within the time specified and until payment in full is received by station. Payment by advertiser to agency or to service or payment by agency to service, shall not constitute payment to station. Station will not be bound by conditions, printed or specified. The parties to this advertising agreement affirm that nothing in this agreement, or any of the actions, benefits and obligations relating to it, discriminate in any way on the basis of race or ethnicity.